MA 161 & 161K EXAM 1 FEBRUARY 9, 2000

Name: SD(LL’F\M Kejj

I.D. #:

Rec. Instructor: Time of Rec. Sect.:

Lecturer:

Instructions:

1. On the mark sense sheet

a. Fill in instructor’s name and course number,

b. Fill in your name, student identification number and division and section number,
and fill in the appropriate spaces with a pencil.

c. Fill in the appropriate letter on your mark—sense answer sheet.

d. Hand in both the answer and question booklet to your recitation instructor when
you are done.

2. Verify that you have all the pages (there are 8 pages).
3. Calculators are not altowed.

4. Circle the letter of your response fo each question.
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1. Solve the inequality

A B<axr<?2
—° B. z<-3 or 1<2z«2
% C.z<—-3 or z>1
X+3 D. 3«<z<«1
2 @—3<x<1 or z>2
(ﬁ—?((i‘:3

@;‘l%ﬁ)ﬂ) > 3 4X4] e K72
X—-

2. Find an equation of the line that is perpendicular to 3z 42y +4 = 0 and that contains
the point (—2,1).

A 3z-2y+8=0

gx-t-Qg-;»L}:() ‘M{S Sl@e _-%'__ 2x—3y+7=0
C. 2z24+3y—-1=0
PerPemL}cuﬂa« e hao “"0‘0"‘ D. —2z+3y+9=10
[X 2.) E. 3z+2y+4=0
—_— 35 -3 = 2ZX ‘H/-

—> —2x +3y ~1 =0

INIEN

o
\1.,

ond eﬂm"ﬁﬁhi j-! =
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3. Find the domain of the function ¥ = %\/;2)
Az > -2
B. z>1
dewswiater: Ji-x = |-x70 — %4 C ool
.z

—2<:z:<1

y\wm{’or: ,Q(X-F-L) — 9('}'270 — X7 —2 E. all real numbers z

dowmam 15 injersechon i x<) and X7 —» 0ex <]

2
T +:c—2?

4. Which of the following is the graph of y = 1
x —

A. j
3_
2

T

|
|
|
| \3\
-3-2-}1 }2 -3-2-}1 1 23\
a1 | -2
|
|

-3

-3-2-}1 1323 -2-1)
-2 -2
-3 -3
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1
z+2 and g(a:) = m

5. Find the domain for f < ¢ where f(z) =

A x#-2

WTV\#? 1$ X?"‘l b st

C.z#-2andz#1

(_-Fog)[n) = JC(j(RJ) = JC(QH @«’U#%and:c%l

I E.:c;é—Zand:c;é%

—
LN,
y—I
= l
|+ 2%
X~}
. [
= ___’S_:_]___ -f,clw?v\q—fo (s ‘X?E"iam{)(f"f.
2X -l ’
6. Solve V3sinz < cosz for 0 < z < w.
_ \ - ., A Eﬁ:ﬂ(E
|h‘§W0ﬂM J:F j_J_g—gm)(aﬁu’(y-—-CQSX. ) g »;2,-
<<=
- 3 2
J—g.smx = s X h

T T %1
D 0L — - -
{}_a:<3 or 2<x<6

E. none of the above

(onsidor ﬁwfks a-)ﬁ Jisinx amd 25X ;

t \_:Tr——”x D.F!j:asx ff:bfo f:x-:.-E——

:j:a:m

o4 -
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7. logy 3% is equal to

X
LQ*%:Q’?;?-Z )

G-
2
B. 3
Jﬁ,\% ﬂ X C. =z
(..-I-—) = g D. e
K E. g
vy X
-1 h8
2 X
—_—> 3 J _*3
_ _ X
_— __..23 =X — g - 2
8. The slope of the line tangent to the graph of f(z) = 22% — 3z at (2,2) is
A 4
' ot line 35 dervafire, oL
Slope 63( fwﬁ | - g
J D 3
} { ) = Yx—3 E. cannot be determined

fl=e3=%
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9. lim [($—2)2+3] sin (xzﬂ—z) is
= [@-L)z +3:[ Sih (E%J by confinsily
= [O 'J'?)] Sin (%}
= C% ) (! )

= O

5o ® »
[

= 3
|r +2| .
10.r—1>—2-mls
A o
, T =y <-2 = 20 B
Nofer ¥— -2 C. 0
D. 1
> el -0 L g i @

-+ v+ yF -2

/\}\mﬁm k],‘m [r 42 ~ Jim (__ﬂ = -1

-2 |rs2 3
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11. Let f(x) = z® — 3z + 4. Find the point on the graph of y = f(x) where the line
tangent to the graph is parallel to the line z +y = 1.

A (-2,14)

X +Y = has  slope -1 B. (~1,8)
_ C. (0,4)
E (2,2)

(e want  2x-3 = -1

—» 2X = 2

— X = |

— o= () 30+ =2
Deshed poiet s (12

12. Let f(z) = % Then £/(1) is
A 0

Use the Guohed e . Find rFlht) ond B. —e
hom ovadrate ’]a\([)1 @_26

W= (e")(¥) ~ ()55 o
s Ik
,E‘m = e — 3 - —Ze,

>~ —

f
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1
— 2 :
13. Let f(z) = -3z° + 35" Then f'(z) is

> —3 A —39:+-—12
Neler F(d= —32x F3X i
B. —6x3+@
; L, -4 )
ﬂﬂn) f(;(] = —",?ZQ,XJ +3/-3X J @~6w—&;z
- 1
— “’é)( o X * D. _6m+3$2
E —3$—i2

_(ox——)’z;-f | :

B

ze® — 3¢’

T —

14. The lir% is the derivative of a function at z = 3. Its value is
r—¥

4e3
B. 2¢*

s SR T ), :
X3 X -3 %= 3 X-3 C. 0
X . —2¢*
rkere ({:(‘A) = X&€ , E_ *383
tli= O + (x)(e"
3 5 g

%'(3):: e -{—*ge - 48
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15. Let a be a constant and

f(x)_{2:c—|-1, r>1
" lalz?+2c-3)+3, z<]1.

Choose @ so that f(x) is differentiable at z = 1. Then a is

A a=1
Hore's fhe shorter sobutron (Q&'?M e c a:%
on ekt F%’ﬁ): D'“:%

E a=10

Note :  a(x #2%-3) #3 =3 for ol aged x=1.

- W = a(XFx-3)+3
Howe hs a+ gln = 21t ond o
s’ s ot (1,3t b i

) R el dedumbires
\ ¢(x) ~(54id fiwe) ot g nd W do ok
h?ﬂ““‘?i“ e ot 1= oy )
(ushed pavabals) | ,
// : ®X L\I(ﬁ):—z Q(Z}(v{'?_) N ‘\ (i\ = 46%

6‘(&3 =2

ghumwma@rmﬁ\wq}swkﬁ%

o =l 46\=1“"’0\=‘*"[£

o The quaph db £ 1 wede wp e perde

e #Mg?ﬁifh,“’ o f”ﬂ}tﬂ"
@ﬂwﬂ_g,xw.s
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e wad Rl b edst CPRIN G | 200
“O‘__._.-a—*‘;&“ s ecisk
!

K=
Thao The o pe—Sided  hwts
e 4040 aad N 04 =40
'SR %=1t ¥

st ol exist th__ﬂ_é have the Same vodue

Noke dhat £OV7 20y v = 3.
for %71, fen = 2XH, e fharefie

chse L
liwm Fo ~§0Y _ fim D=3 o e 2K
v v VIR 1Ty
= um,r'z-(*—l = lim, 9=2.
WL o w7

CASE 2 _
ChSE 2 Pv x4l 4= 4 KHx-3)+3 ) and

lim_ fa-€0) _— lim_ M

Lnd ¥l aud! N
= lwm _ R (X Y t3 )
Lad X
— \\M a {4+ =
- (% 3) g,

HM-Q%J l\"m‘ﬁll:ﬁ‘_l exishs when da=2 — a:-zf—.

bR



